E.

Remember:- sin’x+cos’x=1; and tanx = S x
Exercise 5 cos X
1. Simplify the following using the above 2 identities:
(@) 2sin®*x°+2cos®x° (b) 5cos®x°+5sin® x°
3sinx° 5sinx°
o @ .
cosx 2cosx
2. Write down a simple expression, identical to:
@ 1-sin®x® (b)) l-cos’x® () tanx°cosx®  (d) ————
cosx
3. Simplify:
1-cos®x° 1 -sin® x° sin” x°
@ —s ® S © 7o
sin” x 2cos” x cos” x
2.2 0 2 o
G)) w (e) m () tan®x°(1 -sin® x°)
cos x° 5sin x°
4. Prove the following trigonometric identities:
(@ 3-3sin®x°=3cos”x° (b) 5-5cos’x° =5sin® x°
(©) 1-cos®*x° =sinx°® (d) tanx°v1-sin®x° =sinx®
1-cos®x° ) 1-sin®x° 1
e) — 5 —=tan x° =
© 1-sin® x° * ® 1-cos’x° tan®x°
Answers
Exercise 5
1. @2 ()5 () 3tanx (d) 5/ptanx
2. (a)cos2x® (b) sin?2x° (c) sinx®° (d) tanx®
3. (a1 (b) /5 (c) tanZx° (d) cosx° (e) /ssinx® (f) sinx°
4. All proofs.

Trigonometric identities




